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(1) Greenhouse effect
(2) Ozone layer depletion
(3) Acid rain
(4) Photochemical smog

(5) Ecological engineering methods

2. Asolution containing 100 mg/L of glucose (C¢H1,0¢), estimate the following:
(1) A theoretical oxygen demand
(2) A total organic carbon
(3) BOD:s ( arate constant k” equal to 0.23 per day at 20°C)
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8. Sound pressure levels for three machines are 75, 80 and 90 dB, respectively. (1) Please calculate the total sound pressure (Lpr).
(2) If the individual noise generation time are 3.0, 2.0 and 1.0 hr, respectively. What is the equivalent sound level (Leg)?
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